Assignment 2:                                                        
1. In handling Web client requests, the Web server usually spawns off a thread per request, but not a process per request.  Explain why!
2. When suspending (i.e. swapping) a multi-threaded process, all of its threads stop running.  Explain why! 
3. When performing a context switch, the old process information is saved.  Where does such information get saved?
4. What are two differences between user-level threads and kernel-level threads? Under what circumstances is one type better than the other?
5. Describe the actions taken by a kernel to context switch between kernel-level threads?





















